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Name Value Activity Direction WO
> vio_cnt[15:0] [H] 0001 OQutput hw_vio_1
vio_en [B] 1 Output hw_vio_1
> vio_threshold[15:0] [U] 200 Output hw_vio_1
> intr_data_2_ps[31:0] [H] 0002_0BB8 Output hw_vio_1
> 1, intr_reg_2_ps[31:0] [H] 1000_0002 Output  hw_vio_1
vio_sflen_adj_valid [B] O Output hw_vio_1
> 1, vio_sflen_adj_value[17:0] [B] 10_0100_1110_0010_0000 Output hw_vio_1
vio_clear \ 0 | } Output hw_vio_1
vio_rden 1 l Output hw_vio_1
tx dds en [B] 1 Oulieut hw vio 1
> vio_max_value[31:0] [U1114 Input hw_vio_1
> vio_i_freq_data[15:0] [S] -73 Input hw_vio_1
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